Review sheet for AP Chemistry Unit 1 Test

1. The formula of the precipitate from the reaction between Zinc Sulfate and Tin(ll) Fluoride is S7 SOLT

2. Among Ammonia, Zinc and Sodium bicarbonate the compound that produce Hydrogen gas
upon reaction with Hydrochloric acid is 77\.

3. A sample of solution has a mixture of 0.01 M Aluminum Chloride and 0.05 M Magnesium
chloride, what is the molarity of Silver Galerde that is required to precipitate all the chloride

ions present in the solution is O, '3 ”‘KO‘ e R 43 ~N O 3

4. 50 grams of Aluminum Sulfate is dissolved in 500 mL of water the particle concentration of

Aluminum and Sulfate ions are CA |t 3_] = 5 g/_r ™ [goé- Z_’J ~0-876M

S. What is the maximum amount of Carbondioxide that is absorbed by 0.02 molar of 100 mL of
Sodium hydroxide solution. O - O ¢4 q CO

6. If 4.2 grams of Magnesium carbonate produced only 1.5 grams of Carbondioxide, then what

is %purity of Magnesium carbonate. |, &, | 0/0 2 Qi C @2' should h=Ve bep”)
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8. Name the cations and anions whose aqueous solutions are always soluble. j » T g A
’ -—

7. The best glassware used to prepare standard solutions in the

9. What is volume of 0.05 Molar Sulfuric acid required to neutralize 20 mL of 0.1 Molar Sodium
Hydroxide. 20 mL

10. Write the balanced equation between Calcium Carbonate and Hydrobromic acid.

11. Aluminum is heated strongly in air to form a mixture of Aluminum Oxide and Aluminum
Nitride, what is the oxidation number of Aluminum before and after the reaction. 0 —) ?j

12. if equal volumes of 0.5 molar Lead nitrate and Potassium lodide are mixed together after
the formation of the precipitate, what is the ion left with highest conceptration? QV}J’rite the _
word equation, balance, write ionic and net ionic equation. f‘l 0~ b"’ + 2 T — P lv) I
P 2

13. Dichromate ion reacts with Nitrate ion in acid medium and form nitrate, Chromium(Ill) ion
and water. Write the ionic equation. What is the ion that is oxidized? What is the oxidation
state of Chromium in Dichromate ion? Balance the equation. In the above process 46 mL of
0.062 molar Dichromate was initially used to react with nitrate. The remaining
dichromate(excess) is determined by using 19.3 mL of 0.22M of Iron(ll)nitrate and the reaction
is given as below.

6 Fe*(aq) + Cr:07*(aq) + 14 H*(aq) > 2 Cr**(aq) + 6 Fe**(aq) + 7 H0(l)

Calculate the moles of Dichromate reacted with nitrate ion, excess dichromate left.
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14. Equimolar quantities of Magnesium nitrate and Sodium fluoride are allowed to react. Wha ,;be = f
limiting reagent and excess? Copper metal is added to Silver nitrate solutions, is the reactionfossible? .
3 S 'y ' 2
Justify. P] . l“ Al ' L\{ -~ Koduunt =

23

C. A 6 15. Calculaté the number of H\ydrogen atoms in 3 grams of Ethane.(éj'.__' x 6 X% b.o2 ®ie )

16. if equal masses of Hydrogen and Oxygen are allowed to react to form water, what mass of excess
0a o ez Y Wil ! B W, b i ft
reagent would be left? A3 tJ H (€E¢) Will be ) (, T i ¢ _Q‘lgc S [
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17. When Zinc reacts with nitri¢’acid, predict the products, write the ionic equation and balance.

Zn ¢+ oHT t ) omre, 5 424" |4 S + 240

18. what is the maximum number of moles of Iror?(lll} oiide produced by the reaction of D.tﬂnoles each #

ofironand Oxygen. 1) 5 /e Fe O,

, ; 0 )29 Ho
19. how many atoms of each element are present in 1 mole of potash alum. K K,a.‘ = "),ﬁ,, A ';;\ ( Sc‘r -)_g’ 2
20. 3.42 grams of sucrose is dissolved in 100 mL solution, the molarity is l V)

21. Potassium permanganate reacts with oxalic acid in acid medium to produce Carbondioxide,
how many moles of Carbondioxide are produced by the reaction of 40 mL of 0.4 M Potassium

permanganate and 100 mL 0.2 M Oxalic acid. G—__T.Q:&:‘g 0.0 “
22. An oxide of Aluminumﬁis Sé% Al approximately, the empirical formula of the oxide is
3

l2 H, <o
23. Write the balanced equation between Bakingéoda and king of Chemicals. N H (Uj T4 ;

ff‘-',l_SOar-f 2”10 TCO,.
24 What mass of HCl is produced by the reaction of 3.0 x 10*'molecules of Chlorine with excess H, .

26. Sodium reacts with Fluorine to form Sodium Fluoride, name some other elements that combine with

Fluorine in the same ratio. K F ) K_b .F.—

27. Name Pb;0 and calculate the oxidation state of Pb. L € < 6‘ C X ) O x4 S
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